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Yards to Centimeters

Fill in the correct numbers (cm = centimeters).
Take 1 yard = 0.91 m and round your answers off to the nearest tenth.

2 yards = cm

4 yards = cm

6 yards = cm

0.4 yards = cm

1.3 yards = cm

7 yards = cm

3 yards = cm

9 yards = cm

2.2 yards = cm

8 yards = cm

0.5 yards = cm

1.8 yards = cm

200 cm = yards

120 cm = yards

190 cm = yards

200 cm = yards

700 cm = yards

450 cm = yards

308 cm = yards

244 cm = yards

60 cm = yard

133 cm = yards

18 cm = yards

222 cm = yards

If 1 yard = 91 cm, 1 cm = 1/91 = 0.0109 yards
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Answers

Fill in the correct numbers (cm = centimeters).
Take 1 yard = 0.91 m and round your answers off to the nearest tenth.

2 yards = 182 cm

4 yards = 364 cm

6 yards = 546 cm

0.4 yards = 36.4 cm

1.3 yards = 118.3 cm

7 yards = 637 cm

3 yards = 273 cm

9 yards = 819 cm

2.2 yards = 200.2 cm

8 yards = 728 cm

0.5 yards = 45.5 cm

1.8 yards = 163.8 cm

200 cm = 2.2 yards

120 cm = 1.3 yards

190 cm = 2.1 yards

200 cm = 2.2 yards

700 cm = 7.7 yards

450 cm = 4.9 yards

308 cm = 3.4 yards

244 cm = 2.7 yards

60 cm = 0.7 yard

133 cm = 1.5 yards

18 cm = 0.2 yards

222 cm = 2.4 yards

If 1 yard = 91 cm, 1 cm = 1/91 = 0.0109 yards


